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Page 182
e Complete Activity 6.3

Questions within
1abc, 2b, 3abcd

All of the procedure and
Understanding Concepts #3,
Making Connections #4
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Lets look at

Page 182-183
Procedure Questions
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B Study the pie chart in Figure 1 that shows
the risk factors associated with cancer

(a) Which factor is responsible for the
3% 1% 2% MOst CANCer cases?

Tobacco

Figure 1)

Estimates of risk
factors calculated in
percentages

(b) Which of the cancer causes could be
reduced by changes in lifestyle?

Lung cancer can be reduced by not smoking.
Avoiding the sun can reduce skin cancer. A
healthy diet can prevent colon cancer.

¥ Tobacco Environmental
& Diet Alcohol
Viruses Sunlight
Sexually transmitted diseases Food additives
B vnknown

(c) List at least three lifestyle changes that
could reduce cancer rates.

Quitting smoking would reduce lung cancer,
reducing the amount of processed foods would
help reduce colon cancer, reducing exposure
to sunlight would reduce skin cancer. In
addition, eliminating STDs by altering sexual
activities would help reduce cancers associated
with the reproductive system.
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2 Copy a table similar to the one below que %!

@ in your notebook and complete the o' P i
calculations for survival rates. 1 )
TP

Type of New After five yea

cancer | cases | po- /ﬂ(wival
V rate oD &

lung 19600 | 16600 Y2
breast 17000 | 5400 (08..' '
colon 16 300 6300 ra) |
prostate | 14300 4100 l ] *\’%o =247
bladder | 4800 | 1350 1a 28 Y De«ﬂ)
kidney 3700 | 1350 6y y

evkemia | 3200 | 1110 657,

-,
oo - De?.gh: 'S

)

(b) Based on the data, which type of
cancer is most deadly?

Lung cancer is the most deadly according to
the data
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¥ Lung cancer is the second leading cause o
) death in both men and women in Canadz
It 1s also a disease that can be largely
prevented. Over a period of time,
controllable environmental factors may
cause lung cells to develop one or more
of the various forms of lung cancer.
Use the following questions to help you
interpret the information presented in
the graph in Figure 2:

S T— male

3 I I I | | | | | I [ I
1340 1945 1950 1955 1960 1965 1970 1975 1980 1985 1990 1995
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In the earlv 1920s, shortly after World
War I, smoking became fashionable for
men. Hvpothesize about why lung
cancer rates did not increase until the

1950s,

—
e

(a) It takes time for the carcinogens in the

cigarettes to affect the cells.
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Suggest a reason why no comparable
mcrease in lung cancer in women
occurred during the same period.
Explain.

It was not fashionable for women to smoke
or perhaps they did not have access to the
necessary money. Fewer women began

smoking in the 1920s, or perhaps they did
not access to the necessary money.




5. cancer.notebook

LUsing what you know or can find out
about the current smoking habits of
Canadians, predict trends in lung
cancer over the next 10 to 20 years.

There has been a decrease in the number of

Canadians smoking. This should eventually
lower the incidence of lung cancer.

December 10, 2018
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) Compare the trends for males and
females between 1980 and 1995.

The number of males affected by lung
cancer is beginning to decline; however, the

incidence for females continues to rise.
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